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NC Math 3
Unit 8 Review ~ Modeling Periodic Behavior 3a+q’a

‘ 1. The diagram at the right shows two angles of rotation, 6 and B, drawn
in standard position. AA'B'C’ is a 180° rotation of AAB about the N—
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a. Show how you could use the sine ratio (SOH) to find the measure of i
angle 0 to the nearest tenth of a degree.
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b. Show how you could use the e ratio (CAH) to find the measure of
angle 6 to the nearest tenth of a degree. 3—
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c. Find the ordered pair for point
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d. Find the measure of the angle\of rotatlon p to the nearest tenth. Show how you found this angle measure.
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e. Which of the following statements istrue: sin@ =sinf or sinf = — sing ? Explain why this 1s the true
statement (hmt you might use the fact that sin8 = = ) \ n . V
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£ Which of the following statements is true:  COS 0= cos P ‘or-'do% The .= cos B?
statement (hint: you might use the fact thax cos 8
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2. The diagram at the right shows the circle whose equatlon is
x? + __yz — 36. The measure of angle 0 (in standard position) is 30°.
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a. Find the ordered pair for point B, which lies on the terminal side of
angle 6, to the nearest tenth. Show how yoy found this ordesed pgrm L
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and smB =sinf. Explam howjgﬁm % \; m / b
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c. Use symmetry to e a different angle a such that 0° < a =< 360° = -
and cos q = cos . Explam how you fo g
Qm\m ; o sCS \ W\QLLD{DQ “Fh Aok
d. Wh;ch of the folloﬁn%mefné S true: sm = sm(— or sin 9 = —sin(—0)? Explam why this is
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3. The graph of f(x) = sinx is given to the right.
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Match the following equations with the following graphs. Explain how the graph was transformed from the ’ﬁ
parent graph of f(x).
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_CLL j(x) = sin(2x)
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h(x) =sinx +2

4. Given the graph of f(x), determine the following characteristics and write the equation
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Given f(x) = 15sin(18x) + 5, determine the following characteristics and graph:
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7. A Ferris Wheel whose maximum height is 160 feet has a diameter of 150 feet. The wheel completes one
rotation every 15 seconds. Assume the rider is sitting in the car that is in the farthest right position when the

wheel begins to turn in a counterclockwise direction.
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What is the radius of the wheel? F‘\%%

What is the period? \5 N ﬁ( ‘
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c. What is the angular speed in degrees/second?M \ &:
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e. Write an equation of a sine func n that models the height of the rider. ’&\Q&\W:Dm
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8. A 10” pizza is divided into 8 equal slices. @@ &
a. What is the measure of each central angle in degrees? % 8 = - )
b. Convert the angle measure into radians. Show your work. % % N \ = "K\.\: 6
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c. What is the arc length for 3 slices of pizza? Show your work. , . JW @ =
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d. Tfa12” pizza was also divided mto 8 equal slices, would the measure o\féach ce:ﬁal anglz be differe
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'Would the arc length for 3 slices be different or the same? b&" @&\
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